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A
6.7 6.8 6.9

What number is marked at A?

 

 

 

  
 

1

M0423  Num           N2i L3  

1

1 mark
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 1

At a tournament there are 7 players in each team.

There are 112 players altogether.

2

M0703          Num           N3a L3  

How many teams is this?

  
2

1 mark

M0703_2  –  5 December 2012 1:55 PM – Version 2

[1 mark]

1
1

[2013]

The signs are missing from these number sentences. 

Write in the missing signs, + – × or ÷

The first has been done for you.

 
6 × 5 = 40 – 10

 
20 8 = 4 7

 12a

1 mark

 
21 3 = 15 8

 
12b

1 mark

 

12

Write these numbers in order of size, starting with the smallest.

 
3.01 13.0 0.31 1.30 3.1

   
 

smallest

 

11

1 mark

 

 

11

 11 Total out of 5

3637 35 34 33 32 31 30 29 28 27 26 25 24 23 22 21 20 17 16 15 14 13 12 11 10 9 8 7 6 5 4 3 2 1KS2 MathsTestB_275356.indd   11KS2 MathsTestB_275356.indd   11 14/2/07   3:13:08 pm14/2/07   3:13:08 pm

[1 mark]

2
2

[2007]

 10

Here is part of a number line.

Write in the missing fraction.

0 1
1
4

1
2

 

8

1 mark

8

This diagram has four angles marked A, B, C and D.

  BA

C
D

Write the letters of the angles that are obtuse angles.

  
9

1 mark

9

2M008_V01_KS2MathsTestB_05012011.indd   10 23/12/2010   16:05

[1 mark]

3
3

[2011]
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6 Write these numbers in order of size, starting with the smallest.

1.9 0.96 1.253 0.328

smallest
 

1 mark

5F8  Order Decimals 

KS2 item template version 1.2

M004839  –  9 January 2017 2:26 PM – Version 3

Write the missing numbers.  

 

60 months = years

72 hours = days

84 days = weeks

7

2 marks

4M4c  yonks

KS2 item template version 1.2

M004747  –  14 December 2016 2:06 PM – Version 5

F00070A0824

[1 mark]

4
4

[2017]

Put a tick (✓) in each row to complete this table.

One has been done for you.

Write in the missing digits to make this correct.

4

   6  

2 0 5    2  

t

9

9b

1 mark

9a

1 mark

8

greater than less than

0.9 ✓

0.06

0.21 8

2 marks

11
20

1
2

1
2

6

[2 marks]

5
5

[2001]
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11   Here is a number written in Roman numerals.

C X V

Write the number in figures.  

 

1 mark

M005211  –  9 June 2015 3:16 PM – Version 2

KS2 item template version 1.1

12 What number is halfway between 1.4 and 2.1?  

  
 

1 mark

M003166  –  9 June 2015 3:16 PM – Version 2

KS2 item template version 1.1

S00060A1324

[1 mark]

6
6

[2016S]



 10

A fraction of each shape is shaded.

Match each fraction to the correct place on the number line.

One has been done for you.

0 1

9

1 mark

9

289982_KS2Ma_2009_081212_v0.0_Ho10 10289982_KS2Ma_2009_081212_v0.0_Ho10   10 09/12/2008 16:28:0309/12/2008   16:28:03

[2 marks]

7
7

[2009]
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Write these numbers in order, starting with the smallest.

0.78 0.607 5.6 0.098 4.003

smallest

5

1 mark
M004014

M004014_disorderly  –  29 September 2015 11:52 AM – Version 4

KS2 item template version 1.1

5F8

E00080A0824

[1 mark]

8
8

[2016]

Total

Here are five shapes on a square grid.

Which two shapes fit together to make a square?

15

Write in the missing number on this number line.16

16

1 mark

and
15

1 mark

11

[1 mark]

9
9

[2001]



Total17

Circle the number closest in value to 0.1

0.01 0.05 0.11 0.2 0.9
18

1 mark

A cube has shaded triangles on three of its faces.

Here is the net of the cube.

Draw in the two missing shaded triangles.

19

1 mark

18

19

[1 mark]

10
10

[2002]
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  Two decimal numbers add together to equal 1 
 
One of the numbers is 0.007

What is the other number?

 

 

1 mark

 

12

1 mark

M004017_decimo  –  20 February 2015 1:16 PM – Version 4

KS2 item template version 1.1

5F10

 Here are four fraction cards.

3
4

5
8

6
12

7
16

Use any three of the cards to make this correct.

< <
 

1 mark

 

13

1 mark

M003986_fracards  –  20 February 2015 1:19 PM – Version 5

KS2 item template version 1.1

SF3

S00070A1424

[1 mark]

11
11

[2016S]

 16 

Here are some shapes on a grid.

A B

DC

Write the letter of each shape that has one pair of parallel sides.

  
17

1 mark

 

17

Circle all the numbers that are greater than 0.6

 0.5 0.8 0.23 0.09 0.67  
16

1 mark  

16

21 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37KS2 MathsTestA_275355.indd   16KS2 MathsTestA_275355.indd   16 6/2/07   5:19:42 pm6/2/07   5:19:42 pm

[1 mark]

12
12

[2007]

Page 19 of 24  12

Write these numbers in order, starting with the smallest.

 
8.12 1.8 8.118 8.2 1.28

   
 

smallest

 

17

1 mark
 

17

M01072 ordering Num N2i2 L5

M01072_2  –  21 October 2013 10:37 AM – Version 1

Total out of 5 

M01569_podium Num N2d1 N3a2 L5

In this diagram, the number in each box is the sum of the two  
numbers below it.

Write the missing numbers.

1
4

2
1
4

1

1
2

3
3
4

2

  

18

18a

1 mark

18b

1 mark

M01569  –  21 October 2013 3:59 PM – Version 2

[1 mark]

13
13

[2014]
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In each box, circle the number that is greater.
 

1
2

1 1.2

1
4

1 1.3

5
100

1 1.4

3
5

1 1.5

17

2 marks

6F11  boxofmatches

KS2 item template version 2

M005675  –  10 November 2016 10:07 AM – Version 4

F00080A01724

[2 marks]

14
14

[2017]
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Circle the number that is closest to 20

 19.95 20.1 19.09 20.09 20.201 
18

1 mark

18

KS2 item template version 1.2

M003746  –  5 November 2014 11:18 AM – Version 1

M01635_Longdiv Num N3j4 L5

Calculate 936 ÷ 36

Show 
your 

working

19i

19ii

2 marks

  

19

M003500  –  5 November 2014 11:20 AM – Version 2

D00070A01824

[1 mark]

15

15

16

17 Here is part of a number line.

Write in the two missing numbers.

2 2 1
4

17a

1 mark

17b

1 mark

18

Use a protractor (angle measurer).

°

Measure angle x accurately.

!18

1 mark

[2 marks]

16

16
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Circle the number that is closest to 20

 19.95 20.1 19.09 20.09 20.201 
18

1 mark

18

KS2 item template version 1.2

M003746  –  5 November 2014 11:18 AM – Version 1

M01635_Longdiv Num N3j4 L5

Calculate 936 ÷ 36

Show 
your 

working

19i

19ii

2 marks

  

19

M003500  –  5 November 2014 11:20 AM – Version 2

D00070A01824

[1 mark]

15

15

16

17 Here is part of a number line.

Write in the two missing numbers.

2 2 1
4

17a

1 mark

17b

1 mark

18

Use a protractor (angle measurer).

°

Measure angle x accurately.

!18

1 mark

[2 marks]

16

16

[1 mark]

15
15

[2015]



16

17 Here is part of a number line.

Write in the two missing numbers.

2 2 1
4

17a

1 mark

17b

1 mark

18

Use a protractor (angle measurer).

°

Measure angle x accurately.

!18

1 mark

[2 marks]

16
16

[2004]
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 Adam says,

 

Explain why he is correct.

20

 
0.25 is smaller than 2

5

1 mark

6F11  Fifth sixth

KS2 item template version 2

M005979  –  26 October 2016 11:36 AM – Version 3

F00070A02024

[1 mark]

17
17

[2017]



 17 Total out of 4

7cm

length

The perimeter of this rectangle is 50 centimetres.

Calculate the length of the rectangle.

cm

21i

21ii

2 marks

21

Not 
actual 
size

Circle the fraction that is greater than 
1
2 but less than 

3
4 

7
8

2
5

1
3

5
8

3
6 20

1 mark

 
 

20

[1 mark]

18
18

[2010]

19  1

20% of Megan’s number is 64

What is 50% of Megan’s number?

21

M0288  Num           N2f3 U L4/L5  

Show 
your 

working
21i

21ii

2 marks

M0288_3  –  15 October 2012 10:39 AM – Version 1

 11

Write these in order of size, starting with the smallest.22

M01071 orderfrac Num N2e2 N2f1 L5 non-calc

22

1 mark

smallest

2
3 0.5 3

5 0.65

M01071_2  –  19 October 2012 9:53 AM – Version 2

Total out of 5

[1 mark]

19
19

[2013]

 22 

Jamie draws a triangle.

He says,

‘Two of the three angles in my triangle are obtuse’.

Explain why Jamie cannot be correct.

25

1 mark

25

Part of this number line is shaded. 

0 1 2

Circle all the numbers below that belong in the shaded part of
the number line.

 1.1 1.4 11
3 11

5  
24

1 mark

 

24

21 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37KS2 MathsTestA_275355.indd   22KS2 MathsTestA_275355.indd   22 6/2/07   5:19:45 pm6/2/07   5:19:45 pm

[1 mark]

20
20

[2007]



18

21 Here are four statements.

A triangle can have 2 acute angles.

A triangle can have 2 obtuse angles.

A triangle can have 2 parallel sides.

A triangle can have 2 perpendicular sides.

For each statement put a tick ( ) if it is possible.
Put a cross ( ) if it is impossible.

22

smallest

17
20

9
10

3
5

3
4

Write these fractions in order of size starting with the
smallest.

21ii

2 marks

21i

22

1 mark

[1 mark]

21
21

[2005]

Sourced from SATs-Papers.co.uk https://www.SATs-Papers.co.uk

[1 mark]

22
22

[2012]
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Circle the number that is closest to 20

 19.95 20.1 19.09 20.09 20.201 
18

1 mark

18

KS2 item template version 1.2

M003746  –  5 November 2014 11:18 AM – Version 1

M01635_Longdiv Num N3j4 L5

Calculate 936 ÷ 36

Show 
your 

working

19i

19ii

2 marks

  

19

M003500  –  5 November 2014 11:20 AM – Version 2

D00070A01824

[1 mark]

15

15

16

17 Here is part of a number line.

Write in the two missing numbers.

2 2 1
4

17a

1 mark

17b

1 mark

18

Use a protractor (angle measurer).

°

Measure angle x accurately.

!18

1 mark

[2 marks]

16

16
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Circle the number that is closest to 20

 19.95 20.1 19.09 20.09 20.201 
18

1 mark

18

KS2 item template version 1.2

M003746  –  5 November 2014 11:18 AM – Version 1

M01635_Longdiv Num N3j4 L5

Calculate 936 ÷ 36

Show 
your 

working

19i

19ii

2 marks

  

19

M003500  –  5 November 2014 11:20 AM – Version 2

D00070A01824

[1 mark]

15

15

16

17 Here is part of a number line.

Write in the two missing numbers.

2 2 1
4

17a

1 mark

17b

1 mark

18

Use a protractor (angle measurer).

°

Measure angle x accurately.

!18

1 mark

[2 marks]

16

16

Total18

Look at this diagram.

Calculate the size of angle x and angle y.

Do not use a protractor (angle measurer).

Not to scale

y = O

x = O

23

Which is larger, or ?

Explain how you know.

2
5

1
3

24

24

1 mark

23b

1 mark

23a

1 mark

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

[1 mark]

23

23

Total

What is the value of u in this equation?

5u – 10 = u + 46

7

What fraction is exactly half-way between     and     ?8

8

1 mark

7

2 marks

7

3
5

5
7

[1 mark]

24

24

[1 mark]

23
23

[2000]


